SEAE HEXRH B EZ A& 023FEEARABRE s = 2022FEEASAER
- - N = P P i
X P |emxs| ww mowon| 2| 2|2 EED sese zon |BR-FRE@R-B -\ B B8 AB e maes| B | B |
*RSEE % | 2 |X| X | E B eunrmonnsecs | VWX (FH-BE) -BE| 5 | R | & (9 JBIEB), EB ZOh = | = | ®
8 | 8 |5 n| X kg zTineees (EHBFERE) - T DAtk Eil =] = |#% B ’ ' £ # R
#i% % 250| 25 iz L HH - AN (H RTHARHEE AT - RHEA=2| 166 | 135 | 1.2
B | RS 150| 13 < 3, F16043). Bifkths PR R - AF 205 42 2| 1.4
=] [ 2000 14 FE B e UNEY T (O, #Eed), A 44 36| 1.2
BEER 95| 8 — ¥ 2 VIR E AT 72 11004, -2k 36| 19| 1.9
& e 165| 16 (miEEE2%4, #HH—H P P, = O~ A 205 70 62| 1.1
e | OVELE | KE 140 12 R<#35> 41 2@y [ 114 (@, #WEET), @ -it| 59| 53] 1.1
téiJlD]%ﬁ%%lﬁ" BB | ERESTiE PR 3.0 X (B E=EEOME - B, 0 [11.19] 121 | 12.9 | Bh9#E104, KT X
’ ~fo-rugk | 90 9 T OB, E=CHEIN - | 1.9 M0, B (EREEED | 28| 27| 1.0
-EBAKXE | 30 3 Wk — 2B W BTG 3 31 1.0
-EBgn R | 30 3 BIHA/NGR LR = Bl ih 2 2| 1.0
A-URE | AR—VEE | 130 7 Fl—saEF204 (@, #ME] 19 16| 1.2
Chak-sE | 40| 3 #9), X100, mEEl o - | -
IN7-vay | IRERERIR 80 9 — 2Bt s AR, Z O fth—FH 51 25| 2.0
% % 250| 13 Frizi L HE - /NawSC (800 - 60 ##2048 (@, #iEEE), 80 51 1.6
B | RS 150 5 )0 BURHLZFES « ik B - IEESEE104, N 23 13| 1.8
] ] 200 7 eV NEYF— g V¥ 10085, g GEHEERD 45 36| 1.3
REER 95| 4 Wi E T (T2 — OB %] 12| 21
% % 165| 8 %, M- FCPR<#3%53> %] 21| 12
BEEERAS | _yp 0 | HEE | ZXE 140| 6 20 ) ABT 1.1 23] 20| 12
’Agers= | o BB | EREE B [ |2 % U 11.20] 121 | 12.9
1m(052)678-4088 e -fo-ingl | 90| 4 11.9 5| 4| 13
T456-8612 A1~ N
41t B 117 2 ] X 2 -EREAE | 30| 2 2 11 20
P HT1-25 -Epgn-£E | 30 2 o] -| -
AF-URE | AF—VEE | 130 5 17 18] 11
Cebak-vEE | 40] 2 . 2| 2| 10
INEYF-ay | TRERERR 80 5 3.5 31 15| 2.1
wE | ®E 250| 6 T L S - BT A N 30| 21| 1.4
B | RS 150 4 « B, FH6040) . BIAHL 12 10| 1.2
= 5 200 6 U - B . U NEY T 9| 6| 15
BEER 95| 4 — ¥ 2 VI E DT 7| 2| 35
& * 165| 5 (THET2%, M9 — EHTP 8| 5| 16
SNERE | TKFE 140 4 R-<%‘036}>€=“t‘) = 121 6 5 1.2
—RRHEE | BROUE | ERESTE . (B 28] [ = [ 38 oo itk « BAR '
() “yo-g | oo of PP |30 YO, K=CHKIT - 1228 1217112.23] 1.13 3| 3] 10
-EEEE | 30 HEI : 1 1] 1.0
-EEgA 4| 30 1 1 1 1.0
AF-URE | Af—vEE | 130] 2 8| 8| 1.0
CebaR-vEE | 400 1 1 1] 10
e | BPRR 80| 1 16| 2| 80




